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No of printed pages: -
General Instructions: ; R
e This question paper consists of 33 questions divided into 5 sections A B, C, -~ .
Multiple Choice

o Section A comprises of 20 questions carrying | mark each including
questions, Assertion and Reasoning based questions.

e Section B comprises of § questions carrying 2 marks each.

* Section C comprises of 4 questions carrying 3 marks each.

* Section D comprises of 2 questions carrying 5 marks each.

Section E comprises of 2 case study - based question of 4 marks each.

All questions are compulsory. However internal choices have been provided in Q22,

Q26 and Q31.

e Draw neal figures wherever required.
SECTION-A

Q 1 to Q 18 are multiple choice questions. Choose the correct option for each of the

following questions:
1. Which of the following equations has no real roots?

A x? —d4x +3v2=0 B.x? +4x —3v2=0

Cx? —4x —=3v2=0 D.3x* +4/3x +4=0
2. pand q are the zeroes of the polynomial 4y*> — 4y + 1. What is the value of
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S ?

: - qs + pq?

o Ll 55 'L

A = B. - C. - D. =
3. Which term of the A.P. 21, 42, 63, B4 ... is 210?

A, 9th B. 10th C.11th D. 12t

4. Given that AABC ~ ADFE, with 2A = 30°% 2C =50° AB= 5§ cm, AC = 8 cm, and
DF = 7.5 cm, which of the following statemgﬁts is true?
A. DE = 12 cm, <F = 50° B.DE =12 cm, 2F = 100°
C.EF =12 cm, 2D = 100° D.EF =12 cm, 2D = 30°

5. The ratio in which x-axis divides the line segment joining A(2, —3) and B(5 6) is

A:deh B.1:2 G2:1 D.2:3

6. For what values of k, the roots of the quadratic equation 3x? + 2kx +27 = 0 are
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real and equal?
Ak = +4 B.k =+3 Ck =46 Dk =49
Two APs have the same common difference. The fi :
: 3 rst term i
that of the other is — 8. Thén the difference between their 431012‘2 Of.these e
A1l B.7 C.-7 D :)rn »




8. In the figure below, PQ CB.

¥

AN

28am Q |
To the nearest tenth, whats the length of QB?
C.1.7cm D. 2.2cm
A .14 cm B’3.2 cm aike : h is equal to
9. Ifthe LCM of p and 18 is 36 and the HCF of panid 18 is 2 then S 1
A2 B.3 C.4 A > '] &
10.Iftan'x + sinx =mand tanx — sinx =n, thenm” — 0 is equa e,
A 4/mn B. Vmn C.2ymn _ D non8906 -
11. The sum of exponents of_pﬁme factors in the prime factorisation of 196 1s
A3 B4 C.5 D.2 :
1
12. Which of the following is the polynomial whosezeroes are 7 and — = Z
A 12x*+5x -3 B 12x* —5x — 3
C.12x% +13x +3 D.12x%> —13x — 3
13. The zeros of the quadratic polynomial x* + kx + k, k# 0
A-cannot both be positive B. cannot both be negative
C. are always equal D. are always unequal
14. The value of k for which the system of equations 2x + ky = 12,x + 3y — 4= O are
inconsistent is
21 1 e 4
A o B. T .0 D. 31
15. If the points (1, x), (5, 2) and (9, 5) are collinear then the value of x is
A.g B~ 5 <1 D.1
- oind ]
16. What is the value of ——————?
: tan30°tan60 . i
A,ZI 832 L.z: D3-4-

17.1f (a, b) is the mid point of the line segment joining the points A (10, — 6) and
B (k, 4) and a — 2b = 18, the values of k is
A 30 B-22 C.4 D.40
18. What would be the last term of an AP with 10 terms whose second term is —23 and
the third term is =357
A’—- 119 B.119 C.—650 D. 350
In the question number 19 and 20, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option.
(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation
of assertion (A).
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A).
(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.
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nswer the following questions:

(1) Ata certain instance. the midfielders and forward formed a parallelogram. Find

the position of the central midfielder (D) if the position of other players who

formed a parallelogram are A(l, 2), B(4, 3) and C(6, 6).

(ii) Determine whether the positions of the Goal keeper G(—3, 5), Sweeper
H(3, 1), and Wing-back K(0, 3) lie on a same straight line.

OR

i) Determine whether the Full-back (5, —3) and centre-back I(— 4, 6) are
equidistant from forward C (0

, 1) and whether C is the mid-point of line
xment (]

1) If Defensive midlielder A(1, 4), Attacking midfielder B(2, —3) and Striker
E(a,b) lie

the on the same straight line and B is equidistant from A and E, then

determine the position ol L
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